o f ‘s.wm)lf gp}TMQU -9 féwﬁjmo

835C

9-~

%
v 24 /,W

AX0S Tamo
YFANYNY

&9l 9 Sl (egle l3g

[
1
[ A

Y 835

23S gl e obojlw

(e3) g..».n:» ,n'.o|

Sgui el o8l )ﬂ»
€.og o0 7ol CSlow

(1Y0) &5) G 2 (oo

Ym0 8 ylecds g Sl « giloeiol dlge oylgie

J" .
\
v/

Sl U | 85les 31 [ Jlgow olows Sloxiol Slge o,
Yo \ Yo (ol Kil) pcuarsi g gogas L) \
¥ Y# A (Jlosz] g 3ol ¢ i ildly ) ¢ huasil pis 5 Y Slao) Slosly Y
88 3 8 (Y1) o5 551 gl sloo Y
v of I 1 bz d (slapina g (Y 9)) g S f
AD A 16 V (% 165 5 sl Jaloni 9 (Y 9)) (59 ST sl pndilo A
ay AS W b J S o $
1.4 aA 1Y U goiisns 3 U JUiiras v
W) e VY b lio g yiSJ! A
[ oy WY W Sy ot 2 (6lhondio 3

[ 0310 (LB 8 yed (_,y;}i ol }

:4;'33 £

S gutigo 3 (SlAoudor U < ubolidog ST g yd 99 (S B G S 1 unige » iy Gludliio 1

it (ol i 38 iy

/

[ s 3o Ol (piilo 31 oaLé.';....J]

[ g0 5 S 0 i1 Clin b g oo oo ol v ol 300 b gl B 3 SAuker ol oled (51 103903T 5313 2 51 ot (1009 S SSUN) g 0 0 Vg LN g S5 k> }




o f @em)u ggo}hl'gaaéﬁégu -9 fu;«ﬁjw

Y axio @@ 835C @@ (YA 05) (§ 30 (owdgeo

! (53031 e 53 Lol ygui> pis & oy < § Jgu il joie 10 Ll g Slaskie z )0 pas (ol )5 cdbgls

b ogs oo b ylois 3390k cJolS BT U oo N R Y1 R ol
ous Z 30 J S uS g 95 Yl A 80 g aoliiwly (SYU camder 43 39,9 W, (YL 40 gz yudo (dbgle 5l
lod oo am U 1 placligawly crmly 9 ©¥l5m &2 o wlo (59 »

M/)‘_g—amj o3 Hbj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Despite the fact that Gross Domestic Product (GDP) has increased substantially in the
industrialized West, the levels of human contentment have remained ---------- .

1) apposite 2) interwoven 3) static 4) implicit

2- Immigration ---------- from the Latin word migration and means the act of a foreigner
entering a country in the aim of obtaining the right of permanent residence.
1) gathers 2) obtains 3) arises 4) derives

3-  Not speaking the same language as your customers can lead to communication ---------- .
1) breakdown 2) brevity 3) gesture 4) imitation

4-  The factory’s workforce has ---------- from over 4,000 to a few hundred.
1) withdrawn 2) dwindled 3) undercut 4) forecasted

5-  The police came up empty-handed despite an ---------- exploration of the suspect’s home.
1) exhaustive 2) inescapable 3) ephemeral 4) inevitable

6- When the old man married a woman in her thirties, all everyone talked about was the
---------- in the couple’s ages.

1) diversity 2) disparity 3) longevity 4) extension
7-  One local factory will ---------- the town’s job shortage by providing 250 more jobs.
1) overlook 2) adjust 3) displace 4) alleviate

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One commentator argues that the success of private schools is not in their money,
(8) -—-—---—-- their organization. State schools fail their pupils because, under government
control, they lack options. But if head teachers at state schools (9) --------- given the same
freedom as those at private schools, namely (10) ---------- poor teachers and pay more to
good ones, parents would not need to send their children to private schools any more.
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8- 1)thatis 2)itisin 3) but in 4)is
9- 1)had 2) were 3) to be 4) be
10- 1) by sacking 2) sacking 3) sacked 4) to sack

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Internal combustion engines have thermodynamic limits on efficiency, expressed as a
fraction of energy used to propel the vehicle compared to energy produced by burning
fuel. Gasoline engines effectively use only 15% of the fuel energy content to move the
vehicle or to power accessories; diesel engines can reach on-board efficiency of 20%;
electric vehicles have efficiencies of 69-72%, when counted against stored chemical
energy, or around 59—62%, when counted against required energy to recharge.

Electric motors are more efficient than internal combustion engines in converting
stored energy into driving a vehicle. However, they are not equally efficient at all
speeds. To allow for this, some cars with dual electric motors have one electric motor
with a gear optimized for city speeds and the second electric motor with a gear
optimized for highway speeds. The electronics select the motor that has the best
efficiency for the current speed and acceleration. Regenerative braking, which is most
common in electric vehicles, can recover as much as one fifth of the energy normally

lost during braking.

11- This passage is mainly about ------------ .
1) energy efficiency 2) electric motors
3) stored chemical energy 4) gear optimization

12- In paragraph 1, the author ------------ .
1) counts the energy required to charge an engine
2) advises drivers not to use internal combustion engines
3) compares a fraction of energy moving a car to energy produced by burning fuel
4) shows how stored chemical energy converts to energy driving a car in different motors
13- It’s stated in the passage that ------------ .
1) the gear systems in electric motors should be optimized
2) electric motors don’t have the same efficiency at all speeds
3) current motors have the best efficiency for speed and acceleration
4) electric cars have speed limits compared to internal combustion engines
14- You can infer from the passage, in a conventional braking system, ------------ .
1) the braking system should be regenerated
2) 20% of the energy is lost during braking
3) recovering energy is most common
4) there’s a lot of wasted energy
15- The writer’s tone in this passage is ----------- .
1) critical 2) illuminating 3) subjective 4) supportive
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PASSAGE 2:

Electrical flow in the body (i.e., bioelectricity), plays a significant role in many
physiological and pathophysiological conditions (health and disease). Nerves relay

information and mediate body functions by transmitting electrical impulses: bioelectrical
signals.

Bioelectricity refers to electrical currents occurring within or produced by the human
body. Bioelectric currents are generated by a number of different biological processes,
and are used by cells to conduct impulses along nerve fibers, to regulate tissue and organ
functions, and to govern metabolism.

Bioelectrical currents (and potentials) of human tissue, recorded from the skin surface by
electrocardiograph (E.C.G.), electroencephalograph (E.E.G.), electromyography (E.M.G.)
and similar sensitive devices, are widely used in medicine to diagnose the condition of
various vital organs.

The most important difference between bioelectric current flow in the living
organisms and the type of electrical current used to produce light, heat, or power is that
bioelectrical current is a flow of ions (atoms or molecules carrying an electric charge),
while standard electricity is a movement of electrons.

The best title for this passage is ------------ .

1) Potentials of human tissues

2) The science of bioelectricity

3) Atoms or molecules carrying an electric charge

4) Bioelectric current flow versus electrical current

The word “relay” in paragraph 1 is similar in meaning to ------------ .

1) transfer 2) store 3) produce 4) process
Bioelectric currents are utilized by cells to do all of the following EXCEPT ------------ .
1) regulation of the chemical changes occurring in a cell

2) transmission of a nerve impulse along a neuron

3) regeneration of different biological processes

4) control of body tissues and organs activities

The conditions of main human organs, according to the passage, are assessed through

1) medicines injected into body by recording devices

2) sensitive devices being widely designed by physicians

3) various physiological and pathophysiological methods

4) bioelectrical currents recorded from the skin surface

Electrical power is ------------ .

1) generated whenever a net ion flux occurs

2) the interface of an electrode and solution

3) the flow and current of electrically charged atoms and molecules
4) energy harnessed from the flow or movement of electrons

PASSAGE 3:

Small-scale wind power is the name given to wind generation systems with the
capacity to produce up to 50 kW of electrical power. Isolated communities, which may
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otherwise rely on diesel generators, may use wind turbines as an alternative.
Individuals may purchase these systems to reduce or eliminate their dependence on
grid electric power for economic reasons, or to reduce their carbon footprint. Wind
turbines have been used for household electric power generation in conjunction with
battery storage over many decades in remote areas.

Grid-connected domestic wind turbines may use grid energy storage, thus replacing
purchased electric power with locally produced power when available. The surplus
power produced by domestic micro-generators can, in some jurisdictions, be fed into
the network and sold replacing purchased electric power with locally produced power,
producing a retail credit for the micro-generators’ owners to offset their energy costs.

Off-grid system users can either adapt to intermittent power or use batteries,
photovoltaic, or diesel systems to supplement the wind turbine. Equipment such as
parking meters, traffic warning signs, street lighting, or wireless Internet gateways
may be powered by a small wind turbine, possibly combined with a photovoltaic
system, which charges a small battery replacing the need for a connection to the power
grid.

Distributed generation from renewable resources is increasing as a consequence of
the increased awareness of climate change. The electronic interfaces required to
connect renewable generation units with the utility system can include additional
functions, such as active filtering to enhance the power quality.

Airborne wind turbines, such as kites, can be used in places at risk of hurricanes, as
they can be taken down in advance.

According to the passage, small-scale wind power, can be a good choice for all of the
following EXCEPT ------------ .

1) eliminating dependence on electric power

2) reducing the amount of greenhouse gases

3) using as a low-priced energy source

4) remote and isolated areas

The micro-generators’ owners, as stated in the passage, can ------------ .

1) help to a utility company to offset its costs

2) produce a retail credit in some jurisdictions

3) sell the extra energy to a company supplying electricity

4) enforce purchased electric power with locally produced power

The word “intermittent” in paragraph 3 can be replaced by ------------ .

1) indirect 2) strong 3) discontinuous 4) regular
Raising awareness on climate change ------------ .

1) contributes to enhancing the power quality

2) makes it necessary to connect the electronic interfaces

3) causes the use of small batteries common

4) leads to more power generation from renewable resources

Airborne wind turbines are suitable in places being at risk of hurricanes because ------------ .
1) we can take them apart and remove them before hurricane occurs

2) they are equipped with additional devices in advance

3) they are already connected to some holder kites

4) they are resistant to hurricanes
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